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O o Tlme 3 Hrs; Marks 100
Note ) o' 4 ‘\\‘ :
.0 All Questlons are’ compulsory N)
_» Figures to the rlght indicate full marks allotted to the qucstlons
<) “» Working Notes whereyer necessary should form a part of your answer,
) : . Calculate Fgures up to the two decnmal points wherever requrred
" Q1 a). Select the most abpropnate optlon and rewrite the full sentence
‘ > (Any Ten) \‘} _ i .f‘ (10Marks)
< 1) Royalty on ‘production is . - e
S -7 (a)Fixed cost ) & “ <
o (b)Semi-Variable cost ey
RS () variable cost "~ & >
- A )Ser_rﬂiFixed cost _ X QD
o o2 & o= Dlrect Material+ Direct labour+ Direct expenses.
3 (a)Prime cost & Q Q & g
Wy < (b)admlnlstratlon cost IR () >
\(c) selling cost -~ < A R -
& o~ (d)Overhead " A in‘ \
~3) At Snew order for material is placed. <>
o - (a)Maxlmum level & N ™
(b)Mimmum Ievel~ oy 2 R )
*(c) danger level.. " X N
= (d)Reorder level 3 e S S N
4) ' o is’ the maxlmum of stock whlch can be:held in stock at any
tlme dufing the year. X Q P
(a)maxumum level o & 8 & el
" (b)minimum level Féss &
: (c) reorder level g &~ ) X
P : (d)danger level ,;717 <& e &
® ' 5),. Labour Turnoverls __ - . ~J
(@) Productivity of Labour.~ , < \
(b)Efficiency of the Labour o > )
(c)Change in Labour Force _ . .
(d)TotaI Cost of the Labour. b
6) Bonus under Halsey plan is paid at . L
(a) 50% of time saved _ A%
(b) 75% of time saved . _
() 80% of time saved' X > N
o . (d) 90% of time saved : o ‘
& ~7)  Tea & Lunch break is A N
o ' (a)Overtime >
~ (b) Normal'idle time.
r (c) Abnormal idle time
& - (d) Standard time ~
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(=l WA ¥ P
e \, W 4 .‘] = ’.\-’ ¢y
0 '.“ C o o '}9 Ly L > o Gy
e o L9 ~7 N i Py o o)
& L Q B By & Q S aF & ,
RN s o0 = ‘.\n‘ ‘-'t"' o.' ,." : :_I'-"' N y 7
O S T ‘} o ~ R
‘\\‘- \ ‘\\-'
_§ 8) \x- When the amount of overhead absorbed is, Iess than; the amount of overhead
RSl o incurred, it is ‘called _~ N ol B <& 3 &
Fy £ (a)under absorption of overheaa & o A% 0
o re) (b)over absorptlon 6f overhead =) - S Q A
2N 2N at ,ﬁm o O -
> Q' ”(c) proper absorption of ovthead \"~ 3 B 3 >
te o e " (d) lower absorptlon of overhead | o ¥ OF < Ll
o ) & o) L ,w o LS) -~
| g 9)"  Indirect Cost™’ el & F & o &
3.7 o 2 o N
il W (a)Can Be: traced tora partlcular cost Ob]F_‘Ct X D A
N ol (b)Cannot Be traced toa pamcular cost obJect i a7 3
& e 23(c) Are.not important F Py NE 8] = &7
) e Lo ') 4 i Pa
) X AR (d)Are always variable cost _194- o ,.:;? :_j\c < s
N T ~ - oo > PR i \. Y
LA ol 7 *‘\ ,/" Q’ \‘-‘ o
o~ £ e =0
QC_\ 10) The process‘of chargmg the traceable oyerheads to cost centre is caIIed as S
F §F SF LT OF F & X F Fon
lom. 4 \:-\, ! .‘“ 0 2 N —\:" -‘\,‘-J 5% A) r'\\ !

o 7 é? ..(a)overheads allocation ,;Q N A \k AT N o
_".3 i (b)overheads charglng AN e N (.’«:f“ o [
i s \::?’ (c) overheads- allotmentx‘ X i oF P 9 S
’ CP 3 t & A’ N Py L ey e

& »55»\ (d)overheads apportlopmen & P -:\‘ X e
RS = oS X N Q& . -
Y . o ) .

& < “j"/ 11) _Costs which are mcurred on%he basis:of time. and are gpaFQEd to, the penod e
sy X ,’ “in which: they are mcurrecL Sre cal!_ed as .‘\ /_f\_”. \,}“ .:.\
o S " (@) Fixed Costs:" N & oy Ll LSl = it

Py ¥ (b)Variable Costs 3\:‘ L X o i & hE
2 & (yNormalCost 7 > F & & & F
5 =y (d) Abnormal Cost, <" | %\-&A‘ kS 5 § A D
g (\A {\ . ) \ e “" (N RS D o

Q "_\_’ ,\ﬂ LY ‘.\. Y -
é\' é\ 12)@ Selling- & Dlstrlbutlon Overheads d es not |n\|ude A Qﬁ - ‘.\;?.‘
';' o (" (a)Director's Fees & & L o oy e

D S (b)Carriage-on Sales. & 3 & & R
~7 i (c) Rent ofoarehouse L &P & S ) N
oF 3 \(d)Advemsement - L ’;c—) .:-‘:} ' = = & 3

N > O ;5 S R
o el eor False\ Any 10 >
b g QQ‘ Q1 (b)_‘state whether the Followmg Stgtements are Trtrﬂ\ - (go l‘ylark)s) ;\b
: ¥ C‘ = g oY v

T \3 e o \ > NS
o —3 Off"ce rent is Prlme cost 2
3 S 2. Admmlstratlon Cost iscnot included in c?&t“Of WOl‘k in PFOQFGSS- o \\‘f

g oo 3. Varlable cost is the cost which® does notwary with the changes in th Iunlefo s
e @ actlwty in-the short'run ‘3’ ,\ e o \f\" s
& B 4ﬁ. "Re-order level is: calcuIaLed* s Maximum Ievgb- Mlnimum level - ; ft &

& & Underthe weighted average method a new Issue prlce is determlne after 3
P S each: purchase" o ‘ X < )
& 6, Materlals areissued from one: process to another on the\hass of Cioods
e oy N o ) Q W
) Recelved Note 0 o
e N Reconcnllatlon of Cost and Flnancial Accounts\ls necessary in cai of non:™
' 2 & “integrated system of accgunts. & ) Q & &
.5,\-’ *8 Profit.on sale, of mvestment is consudered in cost accounts A 2y
g \ L)
0 Q, 9, Tran5|t Insurance relates to Value of Goods in Transnt L N
Q\ < 10. Pre eliminary- expenses ‘written.off appears only in flnancna\kaccounts,
\--‘-?’ SO 11/ JIn Halsey Plan, T|me wages: ‘are guarantEEd s > ;““\\
v N 12 ). 1dle time arises when workers are pald on p|ece asis:. ‘\(‘:\
o AN al o - S e w“ o
N % ey o , 9 O
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“QZ a) The followmg mformatlon is avallable from the books of QﬂK Ltd. for>the

-
W

3T :year 2020 and 2021, &~ & (10 Marks)
<[ Particulars” S 20200 20215
o ) ; " | Stock Turnover Ratio | X4 Times & a2
= - Opening Stock Rs. | > 40,000 330,000 |
g Py Closing Stock Rs. = () 80,000 | =~ -7 50,0000
x’ S [‘Purchases’Rs. .- o R 3 40,000
X s X L o O o & ¢ o
,\-1,7 From the above mformatuon Fnd out N N S\" Sﬁ’
B _1; Purchases and Cost of Goods sold for the year 2020. = 0 i
’“ -2 Stock: Turnover*Ratno and Cost of ‘Goods sold for the year 2021 _g" jﬂ
::‘\‘“ - \, : ot
~ \;\'_-‘ Q2. b) Vosco Ltd has collected the following data for one of |ts materlal X ’ ,_-
) 2 whichiis as follows: < o) Y < (10 Marks) =
& Annual demand 48,000 Units. Cost per ltem Rs. 20 Y 3 =
(e \g* Interest of. the locked -up capltal 3%, pllferage whlle holdlng mventory 2%,# b
<& : & other holdmg cost 5%, \a\ O J‘ \k. o & k
Wy P _sOrder processing-cost Rs. 120 for each order 2 el & o :
& 25 1. What should be the EOQ? ‘ & e s
Koy +* 2. Calculate the Numberrof orders to be placed in a“year &F NS N
, v ‘,\‘f’ c Calculate the TotaLAnnual Ordering Cost ‘&‘- ) < Ry ot
) B 4; Calculate the Total’Annual: Carrying Cost %, ~ A
i :{5-"' 5. Calculate the Total annual® Materlal Cost Q ;4:.»‘ - ol
o ; o A~ - ro oy
S & & 2 ST or & \Q\‘: < &
e Q2) radlng and Profit and Loss Accounts of X Ltd for th "year edded e o
- 31tMarch 2021. S i =~ o) (20 marks)
e < .‘Particulars - Rs:- S Partlcula rs ~r .-Rs. LR
5 \,‘j“ To Materials Consumed - 3,50,000 | By Sales (12,500 units) | .18,75,000
¥ | ToDirect Wages 7 /2,25,000-| Q ) = =
= To Factory; Overheads ~"3,00,000 Fs o ) S \..‘,«"
©  [ToGross Profit ¢/d 10,0000 S T | & ¥
=7 S5 = S [is7se00] ~ o 3 |1875000]
o :\ " [To Oft" ice Rent‘ 2 ,<75,000 |:By Gross.Profit b/d.” <10,00,000
& [TaGeneral: ‘Expenses’ .7 75,000 By Dividend Received " 13,500 &
\’\T-‘;V’ ‘ \_To Management prenses \ -\-'.“ 52:,590 By IrLterest oni' {::’“\' ‘iiﬁ";SOO QE}
.)_..‘;:- C-: o oA = - Investm ent X »;{; ATy (=)
o K| To Advertlserqent = 1,25,000 | - - > N il =
© <7 [ToSalesmep:Commission | 1;50,000 [ o g =
" Y [ To Goodwill w/off =~ 22,500 A X &l )
_To Interest on Loan 7 14,500 N o o
ﬁa 2~| To Net-Profit ¢/d* | 4,95;500 | = N -~ & R
3 ;{F % S |10,20,000 | ‘ E 10 20,000
' Q1 aX” k g X A0 ( v = 0\ o Q‘\-.\
o For the year end|ng‘31" March 2022 followmg est|mate5 have been made: <
Q0 ,;3 . =5 :;3. N3 ‘ AN
\:\o n,,‘f" 1 Productlon and sales unlts~W|Il be doubled. - B ~.}‘
$ Q 2, Direct: material cost perfunlt will rlse by 20% ko'l =
o _ s . e 5 3
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3. Dfrect wages per unut will mcrease by: 40%. o o5
4.°0f the factory overheads Rs 1,50,000 are Fixed and would remain same.. And :
S varlable pverhead Per unit would also remain.same as. |n 2020- 21 ) &Y
Pl »05 Totaloffice and administrative overheads ould be\Rs 2,80, 000 el s

i ,Q 6. Selling and Distribution overheads per unit will remain same. o~
S r::-_ffr 7. Ee[lmg pl'lCE per unlt' would rlse by 10,/o. \,3}-" < Q Q
QA '\\ “- v\' G \?“ r
; \c\\You arerequired; to prepare: I < = of - Q S
o N "1) Cost: Sheet for: the year\ended 315} March 20 1 sho Wing cost per unlt and it

AF & total cost and” i 5 S S S
= Y 2) Estlmated cost sheetfor the xear endlng 315t March 2022 showing cost per

&y e

& L unit and total cost:: ﬁﬁu - & e L
5 S o w': < k‘ e ) N ;‘/ ; o0

Q.3 The company has Three productlon departmentix Y and Z and Two service;

depaftments S°1 and S-2. 7 & ™ ot < (20 Marks) o

3 The:followmg ‘estimates of expénses are*avallable - Cy kl,f-‘ ES) S

&5 S o =~ Particulars:{ A i >~ Rs. =)

*Staff Canteen Expenses \1\ X &) 2 - 5,40,000 o N

“ - > 768,000 &

o '] Insurance on Machlnery S

?‘J i Insur”ance on- Bunldlngs\ y C 7 04, 000 Q

O Staff Welfare Expenses = & Q' F: 210,80, 000| <

= ‘ ‘Power \,‘\' & K ,r: \E\‘ %:: 5,28, 000 | |

o N ‘Rent and Rates 2 M ‘-_.'57 A:f > 2; 56,000 |~ 2
& Deprecnatlon on Machmery Ny g \Sv \Q/ ,7 20,000

o Bu:ldmg Repairs /. & § e & 71,65, 000

\_51\‘ ‘General expenses( proportlonate to d\lrect Wages) Y 5’00’000 q?;

RS = e — 3 = 7 < R
"Other technlcal detanls about departments age as under ’\;:?T D K & &*

)

L v LA Y
?;,3‘ % <l ) h.’ kN \"\ ."'.‘“' =N &
v/

\
b ~
2 7 5
C ® \ e
v

>
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—~ ‘\
o) ~
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J
N
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o> o~ .
& Q Particulars i AX [ Y Z ~§-1  [=s-2 |
A Floor Space ('000 sq ft.) & ".{’ 10 . 20 | ~30 NI LU 2 10 .

i i \Number of Workers ax < 10 S 15 - Y15 5 5.5

» &~ o ' -~ \ N

) f_"’ O \ \ - N
v 20 H.P. of: ‘Machine-. 7 » 300 | 204 23 13y A0 D)

{
"— I o S -

N
= @” Costeof Machine (Rs. in Lakhs) S Ry 2 &

+> | Diréct Wages (Rs In 000) ,EJ I G T P S N A

Show Prlmary Dl..tributlon ofﬂvcrhcad ‘Expenses. CC 2

& : % - ; L3
O \c; o o = ,\ ; sb A N & N
N _%‘ ::.' ~ O OB\ _{“o WS- Lo Ry e D
R N - - .__:_ G v" N _—_,‘7:; ‘:"‘ ‘.‘,: ’ o\ ;‘\\‘
&g T 8§

f1’> Q “ﬂ ‘\’-
& VY ! ¢ \
2 Q3 (a) A worker produced 200: units in a; weeks tlme. o + (10 Ma\i—ks) )
ot \‘ P .\ p .Q\'\ N ] ~
& & Workmg Hours in a wéek are 45 oy
i P The guaranteed wegkly wage: payment\Is Rs.81: S B
& iy .The expected time: to produce one uflt is 18 rnlnutes vl 7 ,
S S - What will be the. ‘earnings: of that worker under Halsey" QSD% sharlng)
= 4F .-.‘-" premlum plan’ “and Rowan bonus schemes? 3 :
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Code: 23l0:1,-‘!1Finnnqi:;‘l‘Accoun_l‘l?ig and Auditing VIII - Cost Accounting.

Paper [_Sﬁbjcct

N ¥ N s
.| 22-1-2014 Purchase 80 29
o' [25-1-2014 Sale 80 33
A
AN 28-1-2014 Sale 20 34
Q)
& .
\\3« | 30-1-2014 Purchase 100 26 e
S : -
oF \\:‘ 31-1-2014 Sale 90 35 N ~
el o :
Y AT The stock on hand on 1st January 2014 was 50 units @ Rs. 25 each. g
&
§ &g _ = x O & & TS
\‘\:' \‘.}?" 2 ? 3 V 7 d ::\\T OR'\‘-' ) 'j.’-\ ‘\{ ) ‘; ) _\: ;
S & - 3 F F & &£ 5 0&
< = Q.4~" Calculate the earnings of Workers A; B and Cfor the particular:month. a2 oL’

] " Also Calculate Labour Cost of Worker A, B;C and allocate the:labour *
N o .~ (20:marks)—

& & costto each.Job K- A - :
e > Sr. No- ol ~Particulars___ > = A~ B | C | .
A S -1 | Basic Wages (Rs.) S A =y 200 300 | 400<|
2 & =2 | Dearness Allowance " - o 50% | 50% | 50% S
N Contribution to provident fund" Of the Employer.as well. 5 that of the "%
r employee (8% of Basic and\D.A.) & N o J RS )
X . | Contribution to ESI Of the.:.Empongr"as well;as that of the employee (2% of |- <
S .= | Basic.and D.A)) X EN = N o 2F =
Lo @ | The three workers were employed on jobs X, Y, and Z in tpgé‘ following = -
’ o proportions- P o Q 0S: R s & e
e 2 S 54 AaY % N " I~ o~ s
& ’Sr. No_|:Particulars o | 30b X[ Job Y |JobZ |
\c ,:‘: 1+ Worker-A o S ) 20% | 30%" 50%. |
!S‘ ,Q: -2 | Worker B . o 40% | 20% | 40% =
v - 3| Worker C 2 oF 60% | 10% | 30% R,

- P ~ o )
etween Financial Accountlng:and CostAccounting? (1Q_Marks)\: ‘
emuneration? )

= Q5 A. Distinguish b A s
tures of Halsey and Rowar’method of payment of r
" o 5 ' X (10 Marks)

'\:‘ b .
& _,,;).QS B. S_;ale the fea
_"" el 'y : o H 7]
3‘\' ._9 ~ R ’ _\t‘l \,OR N
/ =  Q5:Write Short Notes (Any Four out of Six) .. " (20 Marks) -~
.:_ssl- A ) g P \:) N -, - .\
Q . X i A - ~ 4
‘.\5;* 1) Causes of Labour Turnover .- (;;c' . y : %
ey & 2) Materlal Turnover Ratlo & R o \ A
5 . : ; . 2y X - X
M & 3).Gantt Task Bonus:Plan SR S
Y 0 4) Direct Cost -~ o Q O o
A 45) Selling and Distributlon Overhead £ o S :
fo ,'*'6) Allocation Of Overhead-and Apportionment of Overhead -
d.’ (‘ ) + Y ,.\;{'- A"\' ) O )
Q_'}“ el ‘ ‘; V‘\_ - 7_7_"‘: d,‘ \l\“ l\-:.‘A \
A o i : _ g R K A N ‘
‘_\‘} "):'F , = b= L AJ ™, ~ . ! v.:‘
i S . ' ) W -7 0 N \ BA,
29 i ! el . N : 3
."«‘J\ g g’ ; (i L"“
f\l:' ,\“_ L
& A &
‘:\ /‘;—' c'\‘
) s \
S_‘;\ A P \
A L i 3
P \:—') » 0
= < : 3
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